BcTpeyHoe gBMXKeHne
V V




BcTpeyHoe gBMXKeHne
t =S:(V,+V.)

BCTP

V1=S: t -V

BCTp = 2

V2=S: t -V

BCTp 1



|El,BI/I)KGHI/Ie B MPOTUBONOJIOXXHOM

HanpaBneHyy (1)
V1 g ‘('/42

i ¢
np
S
S=d0+(\/1+\/2) X tLI,B




[1BM>keHne B NpOTMUBOMONOXXHOM
HanpaBneHun (1)

d0=S-(V1+V2) X t,D,B
t =(S-d):(V +V.)
V1=(S- do): tﬂB- V2

V,=(S-d):t -V,



|El,BI/I)KGHI/Ie B MPOTUBONOJIOXXHOM

HanpaBreHum (2)
V V




[1BM>keHne B NpOTMUBOMONOXXHOM
HanpaBreHun (2)

t =S:(V +V)
V=St -V
0B

2

V,=S:t -V,



L[1Bm>XeHne BOOroHKy

\/6 \/NI

bdt

BCTP

Mexay HUMU

S ”=(V6_VM) x T

MexXay HMM

BCTP



,£|,|3|/|>|<eH|/|e B,EI,OFOHKy

Mekay Himm BCTp M
BCTP S J—
\/ — V S -
M mexay ¢ BCTP



[1BUXXeHune
¢ OTCTaBaHVeM (1)
6

2V

S=(Vg-V,) x t__

nB



[1BUXXeHune
C OoTCcTaBaHnem (1)

t . =S:(Vg-V,,)
V_=S:t__+V
nB M

V,=Vg-Sit_



[1BUXXeHune
C OTCTaBaHMEM (2)

0
S=d_+(V

\
\
a.

6_\/M) X t,EI,B



[1BUXXeHue

C OTCTaBaHMEM (2)
dO =S-(V6-\/M)x t.EI.B

t_ =(S-d.):(VgV,)
Vg =(S-d.):t, +V,
V,=Vg-(S-d): t



